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numbers, the numbers used most often in algebra.

’/I Real numbers

ALE TAT-B'S

n . .. 0 6 —— _
& Simplify 3 [s 3 an integer” s it a whole number?

@ All terminating decimals (such as 1.25) and all repeating
decimals (such as 0.6) can be written as the ratio of two
integers. How can you write 1.25 and 0.6 as ratios?

@ Place each number in the correct region of the diagram.
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© For use with pages 3-10

LB Use a number fin

Practice with Examples

€ to graph and order real numbers and identify properties

of and use operations with real numbers

YocapuLapy

The graph of a real number is the point on a real number line that
~—Camesponds-to.the-nimber-On-a-numberlinerthe-nrmbers merease fronr— -
left to right, and the point labeled 0 is the orgin, !

The number that corresponds to a point on a number line is the

coordinate of the point,

- The opposite, or additive inverse, of any number a is —a.

: s o )
- The reciprocal, or multiplicarive inverse, of any nonzero number ¢ is .

e
Graphing and Ordering Real Numbers ,
Graph and write the numbers in increasing order: —\/7, 0, 5‘ 2, %
SorLuTion
i . 2,6,% = 1.3, =04 Rewrite each number in decimal form.
ARALLE "
E -7 Z =
v 8 2
oot Iu | o & ., Plot the points on the real number line.
IS S 0 1 2 3
— x-’?, 0.5 j 2 Write the numbers from least to greatest.
BB, s e
Write the numbers in increasing order. P
1. 1,1, /2 2.3 —1,1 3. /5,435 4. —4,1,—1
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3,1z L E, | 25 325 -4, |
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47"5
5. 0, -2,3 b —ufd,~1887 w3-%-1p 8. 3,=5,0
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GISUATES  ldentifying Properties of Real Numbers

Identify the property shown.

a. S(10 +2)=5-10+5~2 b, (6 4)5 = 6(4 - 3)
SoLUTION
a. Distributive property b. Associative property of multiplication

identify the property shown. & 9 peosi TES
9, S*:?ZB-I-S 10. 7+ (-7) =0
5.3=3.5 ADDITION [NV €236
i B 7 eoreat
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Peobeet™
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1, =2+ 0=l — kb:'f 12. M+ 1) =2-R+ 21
A e
“Jel 2L * 5(X=-6) = SeX +5(-6)
:]_‘ngﬂ ™ Drs™igunoe
BB =] feciproee) 14 (5+7)+3=5+(7+3)
(5+7) <3 =25 (7+3)
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Practice with Examples

For use with pages 3-10

CONTINUED

UN\T ANALYSIS

Py

Opersiions wiii Real Numbers

At rest, the average person's heart beats 65 times per minute Dunng
e £ DD i T R, Y - T e
STOBIC SNBTCIsE, Tlin vghe snicreass: ox S

@101‘6 many times does the average person's heart beat per hour?”

b. How many tmes will the average person’s heart beat per minute
during aerobic exercise?

\C t"l“

% N Soa.uvmmk, v
i reS-6o

[ 65 beats)(ﬁom‘ B ;
a. (1 — T b ) = 3900 beats per hour

OTo find 40% of 65, multiply. .
3 % 65 Rewrite 40% as (.4 QI b&a‘\'ﬁ,“”
: Simplify, /
o R

During aerobic exercise, the average person’s hearn w nuld beaj
65 + 26 = 91 times per minute.

il
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la
av emne speed of an Indy racing car 1s 190 miles per hour.
15. Find the length of one lap in yards.
KEY Alugs 2.8 iiles
Rete. 190 M P h
2.Suiles Szypo b+ lyds
T - —
| l-P " 4 erC 3":'{'
CALC: 2.5e5 27280 >
16. How many seconds would it take to complete one lap? \

(Rcu ND TO S€cands

| 2.5 wites = A o . omn Co SEC
‘4 lap 190 mites | L M .
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QRLE. 55 =4 Y ur e

Copyright © Mcﬂuugal Litta!l Inc.
All riohts recaniad



LESSON

DaTe

". NAME
Practice with Examples

For use with pages 11-17

T}

by combining like terms

Evaluate algebraic expressions and simplify algebraic expressions

'WocaBuLary  Xnow WIGHLGHTED Wolds'

An algebraic expression is an expression involving variables. £ x ( x'?-

| —

Like terms are expressions that have the same variable part. Constant
terms such as —4 and 2 are also like terms.

TThe base of an exponent is the number or variable that is used as a
factor in repeated multiplication. For example, in the expression 4b,
4 is the base.

An exponent is the number or variable that represents the number of
times the base is used as a factor. For example, in the expression 4°, b
| is the exponent.

$a%|

A power is the result of repeated multiplication. For example, in the
expression 42 = 16, 16 is the second power of 4.

“Any number used to replace a variable is a value of the variabla
o

When the variables in an algebraic expression are replaced by numbers,

A variableis a letter that is used to represent one or more numbers. £X (

/‘

X, Yone)
+ix-2)
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L_t‘hc result is called the value of the expression. T-\[A L0 &TE EXCLESSIONS
| Terms are fhe parts that are added in an expression, such as 5 an;] —x in Tao FinD THe
PO o el i M Sl b e VALUE OF The
— °EF | A coefficient is the number multiplied by a variable in a term. - .
) , _ _ _ EXPRESS N,
il Two algebraic expressions are equivalent if they have the same value for |
=h =7 all values of their variable(s). !;
X i SR —— e R e e EREROSY. |
GOQIIEED Using Order of Operations
. Pem DA oa
+ + - T-= + +0 — p e =t
234 [8+3 N=28+18+9-T7) Evaluate the power ® ) Vs 1 SIBE o™
=9 = ivi
ME3 +) 2-7) Divide. @ ExPonENTS
=2(—2 Add within parentheses. .
¢ @ X,* LR
= —4

Multiply.

® *, - L —3 R

Exercises for Example 1

Evaluate the expression.

1.(ﬁ|+3)—42\1_\ﬂ 2 14-12+3 (1)

A=l H— |2 -2 ' —
| 45— (-2 + 47 [ 5. 36 + (<37 = 1 |3 *5. 60
5 - (;‘07‘ 3(9 -"qq i—"
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For use with pages 11-17

[IXEY Evaluating an Algebraic Expression

T

Evaluate 2¢2 — 3 when ¢ = 4, EVALsAMN G EXPon E"ir:s
SoLuTionN ("'b’:= ~2.=1.-7 = @
P —3 =24 ~3 Substitute 4 for . oob §xeeie~T-Rescy BB

= 2(16) =3 Evaluate the power.

= 29 Subtract, E

=32-3 Multiply. (D)= 2 -2e-z =@-

8 x— (x+ 5)whenx =20 [E
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11. 4x — 3y + 2whenx =4andy = -3 12 9(m — n)> whenm = 4and n =1
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FOEVTINER Simplifying by Combining Like Terms

Simplify 6(x — y) — 4(x — y).

SoLuTion
6(x —y) — 4(x — y) = 6x — 6y — 4x + 4y Distributive property
= (6x — 4x) + (=6y + 4y). _____ Group like terms.
: =2x — 2y Combine like terms.
.:"31
i Exercises for Example 3
Q Simplif ion.
i impli }!\ ib_g\expresswn ol T

13. 7x — (9x + §) 14. 2(n® + n) — 5(n* — 4n)

— = 'L-
Tx =9x -5 ~© 2NN ~SN Ty 20N
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1B Solve linear equations and use linear equations to answer questions about
real-life situations

VocaBuLARY

SorLve  Eaustions

An equation is a statement in which two expressions are equal.
— .

Fl

. A linear equation in one variable is an expression that can be written in
To Finn THE the form ax = b where a and b are constants and a # 0.

VAaLue OF THE A number is a solution of an equation if the statement is true when the
U &y NBLE number is substituted for the variable.

Two equations are equivalent if they have the same solutions.

'ICEY Variable on One Side

Solve =19 = —2y + 5.

SoLuTion

—19=-2y+5 Write original equation.

—24 = -2y To isolate y, subtract 5 from each side.
12=y Divide each side by —2.

Exercises for Example 1 KSOL\JLYANDCRELK ..............................

Solve the equation.

1. Y= =pgp— ]ﬁ:_—__Sl 2. —18=y+
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COMTINUED

For use with pages 19-24

<snEepaAr GETVUReiladLe! oN

S, » . -_________.—‘-"'_- _
B Variable on Both Sides b  TRE._ SAmME Si0¢ B
Solve 4x — 2x = 15 — 3x. BTEID Z. UNDO ‘1", -“
SoLuTiIoN STEPS: L Nbo X, -
) il A gcke
4x — 2x = 15 — 3x  Write original equation. STEP ! A u‘i \!MS . = Q\
2x = 15 = 3x  Combine like terms. AN oRYGING \ .
Sx =15 To collect the variable terms, add 3x to each side. UsEe CALC .
%= 3 Divide each side by 5.

Exercises for Example 2

Solve the equation.
7. 15— 3a = —44 + 16 (p,all =3m{+ 6 = 24m + 6 M=0
—I- 5

+4a 4
I SRS

Sy > ik Q, = g'lm+(o
_—‘S ——‘b

Ll B
-- . =L/
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M. xf—4=2+7 @ 12, 4x = 24 + 16x ]m
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(FCUIIHED Using the Distributive Property

Solve 15(4 — y) = 5(10 + 2y).
SowLuTion

15(4 — y) = 5(10 + 2y) Write original equation.

60 — 15y = 50 + 10y Distributive property
60 = 50 + 25y To collect the variable terms, add 15y tb each side.
= 25y Subtract 50 from each side.
=y Divide each side by 25.
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Exercises for Example 3 ..o e ST PE0)
Sol\f__the equation. ’T —_— ‘:__._\)
S - i g 2 A=+ T+ =1
13. 5(x — 3) + 12 2(x Z)I 55 14. —4( ) 43 " ll-K-: 4]
- x3=
ExAS 12 = -2 A TRER S 2
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+ X o K= = 4
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757 4 fév =i
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Gy o127/
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Fractions

GIXTIED Selving an Equation with
Solve 3x + 3 = 1%,
o ‘SoLuTionN -
2 ] 4
R AT
15(x + 3) = 15(5)
10x + 9 =4
10x = =5
o 1
= =y
Awd \
— 5 (25X

Distrigote 'ls —

Write original equation.

Multiply each side by the LCD, 15.
Distributive property

To isolate x, subtract 9 from each side.
Divide each side by 10.

_.\o) =13
TR =3 =0

g e
. Lt
<X =24

S s

C: I15=1%/

Exercises for Example 4

Solve the equation.

[7\".3?17. 6n = 3(5n — 2) )N-‘é"'l'x.‘ E]%x+l=4
S I

I =9 |
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